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����� 2 

 

��	�
����
�� 

 
2.1 ��	��������
����
�� 

�����	
����
���
����������
�����
�
������������� � Self-propagating High-
temperature Synthesis (SHS) �����6789	:�;�<=�
���>==���?��	��; (1) ���8�@��
A�	�� 
(Mechanical alloying, MA) (2) ���:G;����A�;�	�� (3) ������H
?
����I������� SHS (4) ������=8
��8�<�:=	A�;�	����K@9�������	
����
� (5) ���8�������	�����?=� (Heat treatment) ��	�����K 2.1  

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 

 

(1) ���@��
A�	�� 

@	���
���+ @	��
�
����+ Stearic acid 

(2) ���:G;����A�;�	�� 

(3) ������ SHS 

DSC, XRD 

(4) ���=8��8�<�A�;�	�� 


�T=�A�;�	����K��8�<�����K��� 

(5) ���=8����� (Solution treatment) 

(5) ���89� (Aging) 

XRD 

SEM 

�����87�	=�� 

����������� 

�������7:V	 

���:��������� 

A�;�	�� 
DSC, XRD 

�����K 2.1 :�;�<=��������� 
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2.2 �������
����
�� 

 

2.2.1 
�����������
� (Mechanical alloying, MA)  
H�����������;HA?@	��
����
��������W 55 ���� ���8��X�� Alfa Inc., USA ����

8����� �[  99.8% :���=��_��
`��K� 16.4 µm  ���XW�����9�	��?��
��� (Spiky) ��	7��	H������K 
2.2 @����8@	��
�
���������W 45 ���� ����8����� �[  99.5% :���=��_��
`��K� 34.9 µm ���
8��X�� Alfa Inc., USA  ���XW�����9�	��97�9�=� (Irregular shape) ��	�����K 2.3 
�TK=H
?��?
=�<���9����
�9�	@	���
���7��@	��
�
���� =�9�	�� 50%������=�<=� ���@	��;	�=	A�����
@������?��
�?=8������<���8=������ (Planetary ball mill) ��9�Model PM-100���HA?���8=�8�


�V���?���?���� :���
�?�@9��g�������	 18 �����
�<� @�� Stearic acid �����W1 ���� ��<���	

��� CH3(CH2)15COOH 
�TK=�i=	���@	��
�<��
�?=8� ������8�_��H�8������g�j�k=����=� 
HA?
���8� 12 A�K���	 
�TK=H
?@	��
�������
�l�
�T;=
���������	�����K 2.4 ����	
�<

V��9�@	���
���
��K��:���
�V���9���
������
ATK=�
�V�<����8@	��
�
������K��:���H
m9��9� �����;����@	��
���K��?
��
����
�@��?��
��TK=	 X-ray diffraction (XRD) (��K
?= Bruker AXS  ��9� Model D8 Discover) 

 
��������	�
��
� TiAtomic %  /�0 NiAtomic %  

:�;�<=�7��
����������:=	��
�
����7�����
����9=���	��; ���:?=���H�
<���	 �<� �;��
�����
����:=	 Ti=47.90 ����/��� �;��
�����
����:=	 Ni=58.71 ����/���   ��	
�������K 2.1     

 








=
MW

G
n uuuuuuuuuuuuuuuuuuu(2.1) 

 

�TK=G  �T=�;��
���:=	��� (g), MW �T=�;��
�����
���� (g / mole) 

�TK=	���
��HA?��
�
���� 45 ���� 7�����
��� 55 ���� 
�TK=7���9�H��������K 2.1 ����? ���
��
�
����
�9���8 0.9394������
���
�9���8 0.9368������
�9���8 1.8762 ��	��;� 

 

%50100
8762.1

9394.0
% =×







=TiAtomic  7�� %50100
8762.1

9368.0
% =×







=NiAtomic  
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�����K 2.2 7��	����9�	���XW�:=	@	���
��� 

 

 
�����K 2.3 7��	����9�	���XW�@	��
�
���� 

 

 
�����K 2.4 7��	���
������
ATK=�
�V�:=	@	���
���7����
�
������K
������8� 12 A�K���	 
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 2.2.2 
���1���23 

 


����
/��/�45��56  
7�9�����������

�V���?�
��TK=	�T= (SKD11) �����
=���<9�	> ��	7��	H������K    

2.5 ����=8���?�� 4 �9���T= <��@�? (Punch) <��
��� (Die) w���=	:G;����A�;�	�� 7�� w���=	
���
��8
=�A�;�	��==�  

 

 
a) 7�9�����7<9���9�� 

 

 
b) ����9��:=	7�9�����<��@�? (Punch) 

<��@�? (Punch) 

w���=	:G;����A�;�	�� 

w���=	
=�A�;�	��==� 

<��
��� (Die) 
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c) ����9��:=	7�9�����<��
��� (Die) 7��w���=	 
�����K 2.5 ���XW�7�9�������KHA?H����:G;����A�;�	�� 

 

���1���23������� 

���@	��
���K@9�����8�H�:�;�<=� 2.2.1 ��:G;����A�;�	���?��
��TK=	=���x��=��� 
(��K
?= Herzog) ���A�K	@	��
����;	�������W 12.4 ���� H�9H�7�9�����7�?�=���?��
��TK=	=���x��=
��� �?��������� 8MPa 16MPa 7�� 64MPa <�������8 ����
��7�9�A�;�	����8
���	����������
H����:G;����A�;�	���?=��������	��; 45% (8MPa) 55% (16MPa) 7�� 65% (64MPa) H�����������;
�������H����:G;����A�;�	���V
�l�<��7����K
��������gG�X��?��  

 
2.2.3 �������
������8��096�:��
�0���
�� SHS  

 


������������� 
���:������	�
<�(Alfa Inc., USA) 
�?�@9��g�������	 0.25 �����
�<� ������� 

18 
k�<�
�<� �����H
?��:���
�?�@9��g���� 1.5 �����
�<� �����W 18 �=8 ���7<9���=8����
����
9�	 (Pitch) 1 �����
�<� 

�T=������;	�=	�?����?:?�	�� 2.5 
k�<�
�<� 
�TK=�������<9=��8
7���=	:?�	��K=��98�w���=	 ��	�����K 2.6 
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�����K 2.6 ������:������	�
<� 

 

����������������/�0����6=�8�3�3>� (���� K) 

1. 
�TK=H�9A�;�	��H�w���=	
��V�7�?� �����W������K  2.7 ���������8����8       

�=�������
�z�H
?=��9 H�<��7
�9	��K

����� ����	��9H
?����
�=�������
�z�{|	
:?���H�A�;�	��  

2. �����	w���=	A�;�	����	�����K 2.8 
:?���H���
=V�
<=�� (Reactor) ��	�����K 2.9 
:���j=<H
?7�9� <9=�����=���g_��H���
=V�
<=��==� ���HA? �|}����=���g (Rotating-vane vacuum 
pump ��9� FY-1C) �?��������� 18 inHg 
�TK=���H
?_��H���
=V�
<=��
�l���mm���g 

3. 
�z�������j�k=����=�������8�������kGK	��������j�k
�l�<��7����K
��gG�X�
�?�� ��K 138 kPa 7�� 201 kPa <�������8 ��
<V� ���=���g==�7�?�=���j�k=����=�
:?���H
�9 

4. ���k;��=�9�	�?=� 3 ���;	
�TK=H
?7�9H��9���88:=	
��
�l���mm���g���	> ���;	
����?����9<?=	 ���=���g==� ��9=�H
?A�;�	��=��9_��H<?8������g�j�k=����=� 

 

   
�����K 2.7 7��	���<��<�;	A�;�	��7��
�=�������
�z�H�
��TK=	 SHS 


�=�������
�z� 

:������	�
<� 

A�;�	�� 
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�����K 2.8 ���	w���=	A�;�	��:=	
��TK=	 SHS 

 

   
�����K 2.9 ��88:=	
��TK=	 SHS  

 

���@4�������� 

�����<A�H
?x��
<=�����	�� =�W
_�����
��K�
��K�:G;�
�TK=�><����K<�;	�9�
=���? H�

	���������;  =�W
_��� 
�l�<��7�� ��K������gG�X���	��;  200°C 250°C 7�� 300°C <�������8 

�TK=��K��H
?A�;�	����?��8�����?=�=�9�	
���	�=���
�l�<?=	���8=�W
_���
�l�:�;�> �9=���K��6G	

=�W
_�������?�� �T=���> 50°C ��<?=	7A9=�W
_�����? 5 ���� 
�TK=H
?A�;�	����=�W
_���
�9������;	A�;� 
 

��
@��0���� 


�TK==�9�A�;�	��6G	=�W
_�����K<?=	��� :�;�<=�<9=���T=��������
8�� 
�z����<A�<��
���87�	������i� (Slide regulator) 7�?��9=�>���8�9�����K 30���<� 
��	�����;��I������� SHS �V��

���:G;�=�9�	���
�V� 
�=�������
�z� ��K
��<��<�;	��?��8���G��9�=�W
_��� ���=�W
_�����K�����?
�����9� 

A��=����W�
��8���=�W
_��� 

   ��
=V�
<=��

6�	�j�k=����=�7��������z�
�z� 
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=�W
_������
@��
�? Combustion Temperature, TC ����=����W�8���G��9�=�W
_��� 
�����9� USB 
Data Acquisition <9=
:?���8�=����
<=�� ��	�����K 2.10 7����	�����K 2.11 
��	�����;��=H
?��
=V�
<=��

�V�7�?��9=�
=�A�;�	��==� 7<9��_������W����=	���k;��������;	 

 

 
�����K 2.10 7��	=����W� USB Data Acquisition <9=
:?���8�=����
<=�� 

 

 
�����K 2.11 7��	=����W� USB Data Acquisition 

 
2.2.4 
����������������������� 

789	
�l� ������=8�����<9=7�	=�� �����
����
�=	������=8:=	���
���
��
�?��
��TK=	 XRD ���gG�X����XW�����9�	 (Morphology) 7�����	��?�	���_�� �?����?=	
������g��=�
�V�<�=�788�9=	���� (SEM) ����������7:V	 ���
��9������������ (Total 
porosity)   ���
��9���������
�z� (Open porosity) ���
��9�=�<���9��������
�z� (Open porosity 
ratio) 7��������:��������� 
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�������
�����4�/����� 

A�;�	����K��������=88��
�W
���?��<?=	
���8
�TK=������
���������
�9�	���
���=8 :���:=	A�;�	�� ��
�?�@9��g�������	 14 �����
�<� ��	 21 �����
�<� �����=�<���9��
������	��8
�?�@9��g�������	 
�9���8 1.5 ���A�;� ��������=8�?��
��TK=	���=8=
������	�� 
(Housfield, 100kN) ���HA?=�<���� 0.6 �����
�<�/���� 
 

�����8��096��863�0
�����
���
���B��:���8�C��� XRD  

���A�;�	����K��?��<��
�l�

���m8�	 ����
�� 2 �����
�<� 
�?�@9��g�������	 14 
�����
�<� ���HA?
��TK=	<��������i� (Wire-cut machine)  
 


�����8���/�G� 
���A�;�	����K@9�����:���?�������X����7��@	:��
���8�?=�7�?� ����������9�

����7:V	�?��
��TK=	�������7:V	����8���_��788���
�=�� (Vickers microhardness) ��9� Model 
HWDM-3 HA?�;��
����� 500 ���� ��:�;�<=���	��; 

1. 
<����A�;�	��
�TK=:���?�������X���� ���������<��
�T=����
��8�����8���
HA?
8�
�=���� (Bakelite) ��	�����K 2.12 

2. ������:���?�������X����
���	
8=����	��; 80 180 240 320 600 7�� 1200 7<9
��
8=��HA?
��� 40 ���� �����:���?��@?����
���HA?@	=�������:��� mµ1  <�������8  

3. ���A�;�	����K��?��7A9H�
��TK=	=��<�?��k��� 
�TK=���������=��A�;�	�� 
���H
?
7
?	�?��
��TK=	
���@� 

4. �������������7:V	��� 789	A�;�	��==�
�l� 5 76� 7<9��76��� 3 ������=8 
���7�?�H�
�GK	A�;�	���� 15 ������=8 �������������7:V	7�?�
��9�
`��K� ���
��K����76���K
�GK	
6G	76���K
?� ������k?����:�� <����g��	���
�����TK������?=�  

5.:?=�������	H�����������7:V	�T= <��7
�9	��K�������7:V	7<9�����@��8��
�W
��;�<?=	
���8��9��������:���
�V� 
����6?��������7:V	��K8��
�W������:���
�V� :?=�����K��?��9

��K�	<�	 
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��H1
I���
IJ0�23�4�� (Morphology) 

 �?����9=	������g��=�
�V�<�=�788�9=	���� (SEM) A�;�	����K��	
����
���?
�����@9�<��7����K	 ��	�����K 2.13 
�TK=�����XW�����<9=
�TK=	:=	������ 

 

 
�����K 2.13 7��	A�;�	��@9�<��7����K	 

 

��9�84�8���5�@���� (Total porosity) 

����������� �T= =�<���9��:=	�����<������<9=�����<���;	
�� ���
��9�����
��������������W��	�������K 2.2  

 

��g
��
	�
��

�
���

�TK�
��
��
�?=
� 

     ��g��	����������7:V	 

�����K 2.12 7��	���
<����A�;�	�����
��8����������7:V	 
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1001

0

×







−=
ρ
ρ

ε uuuuuuuuuuuuuuuu(2.2) 

 

�TK= ε  �T=����������� (% ) 

ρ �T=����
��7�9�:=	A�;�	�� ( 3
/ cmg ) 

0
ρ �T=����
��7�9���	��XI� ( 3

/ cmg ) 
 


��9�84�������4��8���5�@��3>� 
���
��9�=�<���9����������
�z� �T= =�<���9����������
�z� (Open porosity) 

<9=����������� (Total porosity) ��	�������	��; 
 

100×







=

ε

ε
η open uuuuuuuuuuuuuuuuu(2.3) 

 

�TK= η �T==�<���9����������
�z� (% ) 

openε �T=��������
�z� (% ) 
 


��9�84�8���9��/�4� (Density) /�08���5�@��3>� (Open porosity)  
�� ����=?�	=�	<����<�w�� ( )73328 −BASTM  ��HA?�������	��; 

1) ����

��
�
 �������	
���
������� 2.4 
 

( )









−−
=








+−

=
ECB

A

ECB

A
D uuuuuuuuuuuuuu..(2.4) 

 

�TK= D  �T=����
��7�9� ( 3

/ cmg ) 
A  �T=�;��
���A�K	H�=���g ( g ) 
B  �T=�;��
���A�K	H�=���g
�TK=A�;�	��@9�����7A9H��;����� ( g ) 

 

2) �������
����  

�����<�7�?�������(Pores) ��K=��9H�
�T;=A�;�	����6��789	==�
�l��=	788�T= ��
����
�z� (Open pores) ��8�������z� (Closed pores) ��	�����K 2.14 
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�����K 2.14 ���XW���������K=��9H�
�T;=A�;�	�� (Li et al., 2001) 

 
������
�z� 
���6G	 ��������K
ATK=�<9=��9@��_���=�:=	������9���������z���;���=��9

_��H�
�T;=�������9
ATK=�<9=��9_���=� ��	��;�H�������=	�����6
���?7�9������
�z�
�9���;� ���
HA?�����<9=����; 
 

( ) ( )[ ]
100100 ×









×−−
−

=×








×+−
−

=
SECB

AB

SECB

AB
openε uuuuu(2.5) 

 

�TK= A  �T=�;��
���A�K	H�=���g ( g ) 

B  �T=�;��
���A�K	H�=���g
�TK=A�;�	��@9�����7A9H��;�����( g ) 
C  �T=�;��
���A�K	H��;��
�TK=A�;�	��@9�����7A9H��;����� ( g ) 
E  �T=�;��
���:=	
�?����H��;�� ( g ) 
S  �9�����69�	���
���:=	�;�������K=�W
_���
?=	  
 

���
��8�����
=���������=8 <��=�9�	��K��������=8 :�;�<=�������=8 
�����6��
��K�
<����� ( )73328 −BASTM   
  


����������25�@� 
HA?���7��� Image Tool kGK	
�l����7�����KA9��H����
�7����
����
�:�����

���� ���7<9��_������������� 20 ���;	7�?�
��9�
`��K�7���9��
8�K�	
8���<�w�� 
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2.2.5 
�0���
�����8����:�� (Heat treatment) 

���A�;�	����K����8�<�����K��� ��@9�����8����	�����?=����789	
�l��=	
:�;�<=� ���:�;�<=�7��
�����9����=8����� (Solution treatment) ���A�;�	����H
?�����?=�

_��H�
<�
@���K=�W
_��� 1050 °C ��� 4 A�K���	 ��9=�H
?
�V�H�
<�_��H<?8������g�j�k=����=� 
�����;����:�;�<=���K�=	
�����9����89� (Aging) ��K=�W
_��� 450°C ��� 1A�K���	 
�TK=��

����
�����:=	A�;�	�������;	�=	:�;�<=�HA?=�<��=�W
_��� 10 °C/min =�<���j�k=����=� 4.5 
l/min �����;����A�;�	������
����
� XRD 
�TK=��
����K
���:G;�7��
�=�W
_������
������	��?�	     
==�
����<�
��K�<?� (As) ==�
����<���;���� (Af) ����
���k<�
��K�<?� (Ms) 7������
���k<�
��;���� (Mf) kGK	
�l���8�<���K7��	6G	���������:=	������?��
��TK=	 DSC (Differential scanning 
calorimeter ) 

 
 
 


